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IBPS RRB Clerk Prelims 2024 Memory Based Paper 10.Aug.2024-

3rd Shift

Directions (1-5): Study the following information carefully and answer the given questions:

Eight persons- A, B, C, D, P, Q, R and S (not necessarily in the same order) sit in two rows i.e. Row 1 and Row 2,
both the rows are parallel to each other. Row 1 is to the north of Row 2. Four persons sit in each row. A, B, C and
D sit in Row 1 and face south while P, Q, R and S sit in Row 2 and face north.

R sits opposite to C. One person sit between A and the one who faces S. C doesn’t sit at any of the ends. S does not
sit at any of the ends. The one who faces P sits two persons away from D. Q does not sit left of P.

Rafciaa STar &1 sagE® sreaae Hfg sfik Qg T 731 & Sa< Ay

A5 ATE- A, B, C, D, P, Q R TS (A& At foh Tt # ) <7 9i<hat oraia uf<h 1 sfi¥ uf<h 2 § 9% &, S0 ufhat uh-
THY F qHIATAL 81 Ui 1, 9% 2 3 39 H g1y afxh § I =afte 95 §1 A, B, C 3w D ufxr 1 # 9% & v aferor v e
I¥E ¢ STaTh P, Q, R 3 S fxh 2 H 9% ¢ v 3¢ ¥ 3w 37w 2|

R, C & FAodid S31 g1 A 3 9g ={<h ST S T oY 37@ &, & 1= U =Tk 937 g C T off I uw 7t dor g1 S et
T Fe T qET F37 €1 P AT 9% 37@ =A<, D ¥ a1 =AF AT 21 Q, P & aATU 71 927 B

Q1. Who among the following person sits opposite to one who sits two persons away from B?

fReafafea @ @ fa-ararsa s AT e g s BA R ARG T IoTR?

(@) P
(b) Q
(R
(d)Ss

(e) Can’t be determined/ et 7t foraT ST FehaT

Q2. Which of the following statements is not true?
FRefafea # & f9-a1 F97 97 T8 &7

(a) A sits at one of the ends./ A et T g aw a8

(b) R sits immediately left of S/ R, SF &F aTd 9218

(c) C sits two persons away from B./ C, B & T A{<h T 93T 5
(d) Q faces D/QWE@D@@T%

(e) All are true/ THT T &

Q3. Four of the following five are in the same group, who among the following does not belong to that
group?

Rafcfad ofa & & 9 o & a9 ¥ €, Refifag & @ w9 Sa a9g & 9&6fea a51 872

(@A

(b) B

(P

(dQ

(e)S
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Q4. How many persons sit to the left of D?

D % Frft i fhaa safr 45 82

(a) One/ T=

(b) Two/ &7

(c) Three/ fi=

(d) As many persons sit to the left of P/ fSra= ==f<F PF arfi A2 95 &
(e) None of these /3% & FIS A&l

Q5. Which among the following pair of persons doesn’t face each other?
Fefafed & & saiRet w1 #19-97 TH @ H A SE T8 57

(a) Aand P/ AT P

(b) Qand D/ Q 3% D

(c) Qand B/ Q 3T B

(d) Sand D/ ST D

(e) None of these/ZH & FIs AZT

Directions (6-8): In each of the questions, relationships between some elements are shown in the
statements. These statements are followed by conclusions numbered I and II. Read the statements and
give the answer.

TAH TT R, FAAT A FF q<Al 6 A1 9 G IATC MY gl 7 HIAT & A& Ay 13 11 g 77 F| FA471 v 92T 3T Iq<
)

Q6. Statements: A<B<C=D,D>E=F>G
Conclusions:

.LD=B

II.G<C

FYT:A<B<(C=D,D>E=2F>G

Ao

.LD=B
I.G<C

(a) If only conclusion I is true./ T2 Fae Aewd [ A7 g

(b) If only conclusion Il is true./ 7% Faa AwFT 1 T &

(c) If either conclusion I or Il is true./ AfZ AT AT AR [ AT AT B

(d) If both conclusions I and Il are true./ Tf% AehT [ X 11 T T &
(e) If neither conclusion I nor Il is true./ AR T AT AFT [T ST 1 A &
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Q7.Statements: P<Q>R<S>T<U=V
Conclusions:

LP>V

I.LU=P

FYT:P<Q>R<S>T<U=V
Frod:

LP>V
I.LU=P

(a) If only conclusion I is true./ Tf< Faer AT [ AT g

(b) If only conclusion II is true./ 7% Fae fAwFy 1 T &

(c) If either conclusion I or II is true./ 73 IT AT kT [ AT I AT B

(d) If both conclusions I and II are true./ % fAeRT [ ¥ 11 T4 6T &
(e) If neither conclusion I nor Il is true./ A T AT AFT [T ET I TT B

Q8. Statements: X=Y<Z<W,Y>V=>U<A<B
Conclusions:

I.Z>B

I.X<V

FYT: X=Y<Z<W,Y>V=2U<A<B
IGLAE

.LZ>B
[.X<V

(a) If only conclusion I is true./ T2 Fat (A [ qe7 ¢

(b) If only conclusion 11 is true./ 7% Faer fAwh 11 7rex %

(c) If either conclusion I or I1 is true./ 73 a7 a1 fAwke 1 2T I1 Fe %’

(d) If both conclusions I and Il are true./ % fAehe [ ¥ 11 T4 T 2
(e) If neither conclusion I nor Il is true./ A T AT AT [T ET 1 TT B

Directions (9-13): Study the following alphanumeric-symbol series carefully and answer the questions
given below.

EREISICEERREIPENE R CRIEIEDIEPCER 2 PE ENIEIGE RET R EuE 1 B ISR R S 1Y
G&78H*F5$BUW%A4S3LKOP1Q2EN

Q9. Which element is third to the left of eighth element from right end?
FHIF-GT T I ST Y ATSS < 6 d18, SN A 82

(@s

(b) 4

(c)3
(AL

(e) None of these/37# & FIS Tal
3 |
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Q10. How many numbers are there which are immediately preceded and immediately followed by a
letter?

Tt foraet Gty § fores 31 aaet 3l 31 18 T e 82
(a) One/ T=

(b) Two/ &7

(c) Three/ =

(d) Four/ =X

(e) None/ T &1

Q11. What is the sum of the all the prime numbers?

Tt STHTST AT T 9T 4T &2
(a) 16
(b) 18
(c)17
(d) 20
(e) None of these/ZH ¥ FIs AZT

Q12. If we remove all the symbols from the given series, then which element will be ninth from the left
end?

% ga & T Eer F g3t weiiHt FY g7, T R -9 T 974 B F AGr grEm?

(a)B

(b)U

(A

(d) 4

(e) None of these/ZH ¥ FIs ALT

Q13. How many symbols are there which are immediately preceded by a letter but not immediately
followed by a number?

T fohae Wi & ST 31 T8 U e g AT 31 91 Ueh §&AT gl g7
(a) One/ U=

(b) Two/ &

(c) Three/ T

(d) Four/ =X

(e) None/ &< 5l

Q14. Find odd one out?

e & & & ST fifSrg s s @ o g
(a) BEC

(b) DGE

(c) MPN

(d) GJK

(e) ORP

4
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Directions (15-19): Study the following information carefully and answer the given questions:
Seven persons- F, G, H, ], ], Kand L are living in a seven-storey building but not necessarily in the same order. The

bottom-most floor in numbered as 1 and the top most floor is numbered as 7.

As many floors are there above F as below K. ] lives above G but not above F. F lives above third floor but not on
fifth floor. Three floors are there between the floor on which | lives and the floor on which H lives. H lives below

J. Llives just above G but on a prime numbered floor.

Rt ST T S gE® Teage HIerg ST QU 17 i & SAL QIS

AT = - F, G, H, 1, J, K 3% L U a7 TS SHRA § T8 T2 8, AT STe<t Al 3 261 0 § Tg T i | Tad = aTel’

HoTer T TAT 1 g 37 Ta ST ATeAT Hiorer il 6&4T 7 B

F % SO foraet wtoret €, K & = off Ia«T &t 6ioref 21 J, G F 39 TgaT g A F o U< 981 1gaT gl F ey gforer
ST TEAT g AThA qi=al Hiore U< gl Tgar g1 | o #@iorer a2 wgar 8 i H e d@forer 9% =ar €, 39% a9 a9

Horet €1 H, ] 3 1= ¥2aTt g1 L, G 3 3 ST TgaT § A1 AT HE&AT ATeAT HioTe < TgaT 2l

Q15. Which of the following statements is correct?
Aot 8 9 f9-a1 w99 981 8?7

(a) L lives on the topmost floor./ L Ta® U Hiore U Tgar g

(b) ] lives immediately above K./ J, K % 315 3% T@aT g
(c) H lives on the third floor./ H &<t HfSrer 1X T@aT g
(d) F lives on the sixth floor./ F g3t G5t 92 Tgar g

(e) G lives on the fourth floor./ G =T ¥ X Tgar g

Q16. Who among the following person lives on sixth floor?
fFRefafead & Fiv St i w2

(@G

(b) None of these/ZH & FI2 ot

(01

(d)]

(e) F

Q17. How many persons live between the floors of ] and H?
J 3T H it wforert F ft= fraq saRr @ 82

(a) One/ TH

(b) Two/ &T

(c) Three/ i

(d) Four/ =X

(e) None/ &< gl

5 |
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Q18. Who among the following person lives on the floor immediately below I?

FRefofed & & atv-ar=afke 1% 3 A= areft s e @ars?
(@]

(b) F

(0 H

(d) L

(e) None of these/Z7H ¥ FIs AG!

Q19. Four of the following five are in the same group, who among the following does not belong to that
group?

FRefafed o § § aR o & 998 ¥ &, Rufefed § @ #19 39 g § 94f8q 781 82

(@K

(b) 1

(L

(d)F

(e)]

Q20. If we form a four-letter meaningful word by using the first, second, third and ninth letters from the
left end of the word 'SELECTION', then which of the following will be the third letter from left end of the
meaningful word thus formed. If more than one such meaningful word is formed mark X as your answer.
If no meaningful word is formed, mark Z as your answer?

7 g "SELECTION' 9158 % 97U S & T, TAY, NEY ST ATS HeAX HT ITINT Hlah AT U T T 915 99714 &,
AT Fefeifed & & I9-9T o7& 560 ThI a9 a7 768 & aT0 FI< 8 19 A& IM? IS T § ST U ardia 968
A &, AT X FT I IACF & H sifoha Hiforg) FfE #1< arele are8 7T 99471 €, AV Z F7 949 ST & €9 § S foha Hitforg)
(@) E
(b) N

(o9 L
()X

(e)Z

Directions (21-23): In each question below, some statements are given followed by some conclusions.
You have to take the given statements to be true, even if they seem to be at variance with commonly
known facts. Read all the conclusions and then decide which of the given conclusions definitely follows
from the given statements, disregarding commonly known facts. Choose the appropriate answer:

T T T Tl T | 8 FAF S ST A8 TS (Y (QUIAT G| SAGHT T T FAAT 1 G HAAT 8, WA g1 & G AT
T & T Ifta gra &il Ty fAeahst &1 afgu i fhe a fiforg [ fag g st & & a-ar sy ad=ma asai @i
AT Fd g¢ g 1w et w1 RS €0 & st #3ar g1 SfEa s 3w iy

Q21. Statements:

Some tops are not Jeans.
No Hats are Shirts.

Only a few tops are Shirts.
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Conclusions:
[. Some Hats are not Tops
[1. All Jeans are Shirts is a possibility.

FYT:

T 21T, S09 T&l gl

FTE 22, AE T 2

FAT T 2T, A€ &

R

LFE8e, T TN &

I TAT ST o 9T g1 T FFITaT g

(a) Only conclusion I follows/ Fae AT [ AL FLAT &

(b) Only conclusion II follows/ Fae AT 1 STHLT FIAT

(c) Either conclusion I or II follows/ IT T A=t [ 3T 11 AE0T F2AT §
(d) Neither conclusion I nor II follows/ T @7 fAehd [ 7 &T 11 0T FAT &

(e) Both conclusions I and II follow/ fAehtl [ 37 11 =1 SHIIT Fld g

Q22. Statements:

All Boats are Ships.

Only a few Ships are Submarine.
A few Submarine are Motorboat.
Conclusions:

I. All Ships can be Submarine.

II. Some Boats are Motorboat.

ER L

T a1e, AT g

Fa T T, FaHd g

T AL, HIeTAE gl

e

L HT fore, &aa e g1 9 5

I % e, HieLdle gl

(a) Only conclusion I follows/ Fae AT [ STLATOT FLAT &

(b) Only conclusion I follows/ Fae FHTHT [1 ST FLAT S

(c) Either conclusion I or II follows/ IT AT fAest [ AT I SITE0T 3T &
(d) Neither conclusion I nor II follows/ T a7 e [ 7 & 11 0T FdT &
(e) Both conclusions I and II follow/ et [ 3= 11 =T QEHTUTER%T 8

7 I
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Q23. Statements:

No Kanpur is Jaipur.

Only a few are Panipat are Jaipur.
All Kanpur are Delhi.
Conclusions

I. Some Delhi are not Jaipur.

[I. No Kanpur are Panipat.

EREH

TS FTALT, AL TN 2

FAA T, AT, T 2

Tt w1, et g

Ao

I T faeetT , ST 7al gl

[ T FEIR, THIT Tl 2l

(a) Only conclusion I follows/ Fae fATHT [ AL FLAT &

(b) Only conclusion II follows/ Fae AT 1 ST FIAT 5

(c) Either conclusion I or II follows/ IT T et [ 3T 11 SIET F2aT g
(d) Neither conclusion I nor II follows/ T @7 fAehd [ 7 & 11 AAHLOT FAT &
(e) Both conclusions I and II follow/ et [ 3% I1 &4 FAHLT hLd g

Directions (24-28): Study the following information carefully and answer the given questions below:

Six persons E, F, G, H, I and ] purchase books one after the another, but not necessarily in the same order. Also,
they are ranked 1 to 6 from starting to last purchase respectively.

F purchases book four persons before J. Two persons purchase books between ] and H. I purchases book before
G. E purchases book before ] but after I. I doesn’t purchase book immediately before E. G doesn’t purchase book
immediately before J.

e S 1 e gEs® Feaa e s = f{T 1T vt & S o]

TE ATKE, F, G, H, | 3T | U & T3 U FTh [edoh GIad 8, ATk ST&Ll Agl (o T4 HF | @iad gi| a1 &1, 3 I8 4
AL AL G T HH: 1 H 6 T 19 AT 74T 2

F, ] & =¥ 1<% Tgel T&a® @iadr gl | 3T H % = 27 =7f<h 7eas @diad gl I, G ¥ 9ga &% @aadr gl E, | ¥ 98
AT [ 3 9T T8 @ErEav gl 1, E | 319 T8 TEaF Agl @adl gl G, | & 21 8o [ dei @i iadl 2|

Q24. How many persons purchase books before E?
E & 9g forae safe eas @dsd €7

(a) Either Three or Four/ I a1 {19 AT AT

(b) One/ T

(c) Two/ &

(d) Three/ 1=

(e) Four/ =X

8 I
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Q25. Who among the following persons purchases books at fourth rank from starting?

ot § & SF-a7 saiRe TR & =79 S 9 s @adr g?
()l

(b) G

() E

(d) None of these/ZAH & IS ol

(e)H

Q26. If all the persons are arranged in alphabetical order in the sequence from first rank to last rank,

then position of how many persons remain unchanged?

T it SARAAT & 7o 6 F SR & a6 auigaa | SFareaq R Sy, av e SAiReat 1 e s Ratdd wa?

(a) Three/ &=

(b) None/ 1% &Y

(c) One/ T

(d) Two/ =1

(e) More than three/ f7 & zrfer

Q27. Which among the following statements is/are true?
I. F purchases the book before I.

[1. More than two persons purchase books between I and J.
I1I. E purchases the book after G.

FeffeT & & sv-ar/a s e g/8?

I F, [ & 981 T&q @{iaar gl

1. 1302 | 3 <= 37 & 7fereh =af<h e @iad gl
11 E, G % 978 T&d @<iaar g

(a) Only 111/ =<t 111

(b) Only II/ Fa= 11

(c) Only I/ &< I

(d) Both Il and 111/ 11 3f1¥ I1I =T

(e) Both I and 111/ 1 3 11 E 4T

Q28. As many persons purchase books before F as after

F & uga fSrae saf~e qeas @dad €, Sa+ g1 1<k FIREAIA G
(@G

(b) None of these/ZaH & T gl

(c)H

(d)I

(e)E
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Directions (29-33): Study the following five three-digit based number series carefully and answer the
questions given below:

Rt d9-siat Tt qi= G aTsll a6 @A AT SATTIAH STEAI HITorT ST {14 (T T A & AL I
534 218 356 878 427

Q29. If all the digits within each number are multiplied by each other, then the product of which number
is the second lowest?

I TAF H&AT & HIaX a9 Sihl ol TH-ga < & IO AT ST, AT Fohe €T T IUAher g0 999 i gRIT?

(a) 534

(b) 218

(c) 356

(d) 878

(e) 427

Q30. What is the difference between the highest digit of the second lowest number and the lowest digit
of the third highest number in the given number series?

2 IS HEAT HGAT H T TIE e AT 6 G a8 3 S N 999 T8 G&q7 & a9 Ble Hh & a1 (ha T AdL 5?
(a) 4
(b) 5

()2
(d)6

(e)1

Q31. If all the digits within each number are arranged in ascending order, then how many numbers will
remain unchanged?

TfE AT FEAT F I g siahT T AE! 0 § AR fawa S, Y et seamd srafafa e
(a) None/ &1 A5t

(b) Three/ =

(c) Two/ &

(d) Four/ =X

(e) One /U=

Q32. What will the sum of the third digit of the third number from the left end and the second digit of the
second number from the right end?

I G T GEAT o ST 3k TAT I G T T G&AT F AL 3 T T FAT gRIT?
(a) 12
(b) 10
(c)13
(d) 14
(e) 16
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Q33. If first and third digits of each number are interchanged within the number, then how many
numbers will remain unchanged?

TS AT AT & TEA SN 1L 3 BT 9T A g2 @41 Sy, v Fobvaet degmd srafafda e
(a) One/ T=

(b) None/ FTE &l

(c) Two/ &

(d) Three/ fi=

(e) Four/ ATX

Q34. In the word “COMPLEX"”, how many pairs of letters have the same number of letters
between them (both forward and backward direction) in the word as in the alphabet?

5% “COMPLEX” ¥, sT&r<{ o Tt Tl o ofi=r arer<d ot gt (3t ofie i @t faerrent &) Saht £t @ St s di=
SHfY T s i 2 &7
(a) Four/ =T

(b) Two/ a7

(c) One/ T
(d) Three/ =
(e) More than four/ =T & stfar®

Directions (35-37): Study the following information carefully and answer the given questions below:

A certain number of persons sit in a linear row and face north. Four persons sit between Q and S.

K sits second from one of the ends. Five persons sit between K and M. N sits third to the left of M. F sits
immediately to the left of K. O sits immediately to the left of N. Q sits sixth to the right of O who sits at one of the
ends.

e S 1 s gE® Feqa+ hiferg i A= fRw 1T ot & S &

e g # =afe vw T i A s fr e g Fr 3§ Q i s F A A Afr a3 €

K Foreft e e & g #T9 T2 937 81 K 3 M % = af= =fxr 3 81 N, M % 1S e |y e 92 981 €1 F, K % 3
TTE AT TSTEI 0, N F 2% 912 A TST 1 Q, 0 F IS AT TS T TR 43T & 7 0 FFefT Uoh gR W= a1 2

Q35. How many persons sit in this row?
39 4R H faaq e 35 32

(a) 13

(b) 12

(c) 10

(d) 14

(e) 15

11 |
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Q36. What is the position of M with respect to S?
S % |TUET § M T €T AT 57

(a) Seventh to the right/ =TT & HTaaT
(b) Sixth to the right/ =TT & Z=T

(c) Seventh to the left/ T8 & FTqaT
(d) Sixth to the left/ 5T & Z3T

(e) Eighth to the right/ 210 & a4t

Q37. How many persons sit between K and Q?

K ¥ Q¥ fir P sRe 85 82
(a) None of these/ZH & FIs AGT

(b) Five/ o=

(c) Two/ &

(d) As many persons sit between Q and N./ Q 3fi¥ N fi= Saq =afxr 95 8
(e) As many persons sit between 0 and M./ 0 T M & 1= Saa =afxr 95 8

Directions (38-40): Study the following information carefully and answer the given questions below:
Viraj started walking from Point X in the east direction for 10m and reached Point Y. From Point Y, he turned
right and walked for 15m and reached Point Z. From Point Z, he turned left and walked for 7m and reached Point
W. Point S is 5m west Point T. From Point W, he turned left and walked for 4m and reached Point V. From Point
V, he turned right and walked for 5m and reached Point U. Point U is 11m south of Point T.

Rafeiad S 1 s gEs Feaa+ g ik = f{T 1T vt & S &

T 7 g X & @ fRar § 10 Hiex et & & & {63 Y o2 9= &5 Y & 9% 370 927 7 15 Hiex =37 a7 &g
Z 97 ugaT| 63 Z | 9 970 {27 SiY 7 Hied 77 a1 fAg W oz ug=m &g S, Mg T/ 5 #lex it T w afzm g1 &g
W & 9g 70 H{ST ¥ 4 Hiex 37 a91 {63 V 9% ug=m &g V & ag 370 727 37 5 e 7o g1 fbig U e ag=m &g U,
g T& 11 Hrex fir T afor | 2

Q38. If Point W is 7m to the west of Point B then in which direction is Point T with respect to Point B?

aft Rig w, iz B ¥ afirm & 7 fee 6t g0 o= &, 9 i B ¥ amer & fig TRe Rar &7
(a) North/ 3<X

(b) North-east/ 3T%-94

(c) South-west/ feror-afery

(d) North-west/ STT-afzre

() South-east/ FfET-43

Q39. What is the shortest distance between Point S and Point Y?

Rig s o fig Y 3 i = o Pt &7

12 |
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(a) 5m/5 HTex
(b) 6m/6 HTex
(c) 7m/7 HrexX

(d) 8m/8 Hrex
(e) None of these/Za# & &< A5l

Q40. What is the total distance travelled by Viraj from Point Z to Point T?
Rasrga g za iy Taw g fir s s g i &2

(a) 17m/17 Hiex

(b) 27m /27 Hrex

(c) 32m/32 Hiex

(d) 25m/25 Hiex

(e) 20m/20 H=x

Q41. The average marks obtained by a student in five subjects is 105. If we exclude marks of three
subjects which average is 72 excluding highest and lowest mark obtained by the student, then find the
sum of highest and lowest mark obtained by the student?

T T g1 Ui A § s siea i 105 1 3t g = e & st 1 2 3, St shaa 31 g0 i Sgaw
3 Foaw sl &7 GIEh< 72 &, T S g1 ITH SFAH 3 [H5aw sishi 1 T07 19 Hiforg?

(a) 311

(b) 315

(c) 309

(d) 319

(e) 330

Q42. 6 bulls can have plugged a field in 9 days, while 12 ox’s can plugged the field in 6 days. Find in how
many days 5 bulls and 4 ox’s can plugged the same field?

6 9T TH @q &I 9 AT # ia T &, ST+ 12 o SHT @ #¥ 6 A7 & ST gt §1 5 i 3T 4 9 At @ F°r
faraer foel & ST et &7

(a)6

(b) 4

(c)8

(d)9

(e) 12

Q43. The length of a rectangle is 3 cm more than its breadth. If the perimeter of the rectangle is 66 cm,
then find the area of the rectangle (in cm square)?

T AT 6T AT, SR A1STE & 3 A ATF g1 AT AT FT TRATT 66 T g, T AT T &A% (I3 GHT H) T
ENIE 1

(a) 180
(b) 270
(c) 120
(d) 378
(e) 460
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Q44. A vessel contains mixture of milk and water in the ratio of 11 : 8. When 8 liters of milk and 24 liters
of water added in the mixture, then the ratio of milk to water in resultant mixture becomes 7 : 6. Find the
quantity of water in the initial mixture?

TS qa9 § g i< Tt &7 =07 11 : 8 % AT | g 5T o1 § 8 #fiex gy s} 24 #fiex ut femar smar €, ar
oo FRrsror H g8 i T &7 ST 7 1 6 BT SI1aT gl ST o1 & 1+ Y 771 91 Hiforg?
(a) 84 liters /84 2T

(b) 72 liters /72 tax
(c) 60 liters /60 =¥
(d) 96 liters /96 =¥
(e) 120 liters/120 =tax

Q45. There are two numbers and smaller number is 13 more than half off the bigger number. If difference
between bigger and smaller number is 78, then find the smaller number?

A HSATU § S BTE AT TS HAT & e § 13 AT gl AT T2 iR ST €&AT & 1= &7 (< 78 §, AT Sl €T A1
o

(a) 182
(b)91

(c) 102
(d) 104
(e) 106

Q46.Xis 24 more than Y and 3/5th of X is 16 less than Y. Find the value of ‘Y’?
X, Y & 24 T8 g ST X &1 3 /591 ART Y& 16 FH g "Y' FT HIA AT HITorg?

(a) 74
(b) 66
()76
(d) 96
(e) 80

Q47. Three years ago, the age of A was 21 years. Four years hence, the ratio of age of A to that of B will be
7 : 5. Find the present age of B (in years)?

A a9 TgA, A FT Y 21 A9 AT | AR AW ATE, A T A FT B T AL & AT 7 : 5 FIIM1 B T @A A (T H) 07T
g

(a) 20
(b) 24
(c)12
(d) 16
(e) 8
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Q48. P started business with Rs 2500 and after 4 months, Q joined him with Rs X. At the end of one year,
the ratio of profit share of P and Q is 5 : 4. Find the value of X (in Rs.)?

P T 2500 TII & T SHAHTT {LF (64T 3T 4 g q1F Q, X T & AT STk 4T £ T TH a¥ a7, PR QF

ATV TR&8 T a1 5: 4 81 X &7 A (T4 §) A1T Horg)
(a) 4000
(b) 2000
(c) 3500
(d) 2400
(e) 3000

Q49. A man invested Rs P on simple interest at rate of 12% p.a. for five years and he received Rs 2700 as
interest. Find the value of P (in Rs.)?

T SR = I a9 & (1T 12% T I Y ST & Fremer s7re X P 393 F71 [ FFar ik s sasr €9 d 2700 T3
TTH §TI P T A1 (¥93 ®) 19 HIor?

(a) 4000 Rs / 4000 =9

(b) 3500 Rs / 3500 &9

(c) 5000 Rs / 5000 &9

(d) 4500 Rs / 4500 =97
(e) 4800 Rs / 4800 &%

Q50. A man travelled a certain distance by car for 2 hours at 60 km/hr, by Bus for 5 hours at 80 km/hr
and the remaining distance by bicycle at 10 km/hr for 5 hours. Find the average speed of man in the
whole journey?

TF A A CF AT s 2 92 60 fft /ser frafa &, aa @ 5 57 80 fmfi /ser i & aom Sw g ansfe
| 5" H 10 foreT/ser i wfq & T3 &7 g = & ste i sirad Tia q1a Siere?

(a) 42.5 km/hr / 42.5 Tt /=ier

(b) 54.5 km/hr / 54.5 forHT/=aT

(c) 47.5 km/hr / 47.5 et /=eT

(d) 40.5 km/hr / 40.5 FoHT/=eT

(e) 50.5 km/hr /50.5 faft /==t

Directions (51-55): What will come in the place of question mark (?) in the following number series.

Rafiaa gear gear § wrar=s e (2) % e < 1 S|

Q51.22, 24.5, 295, 37, 47, ?
(a) 57.5

(b) 61.5

(c) 60.5

(d) 59.5

(e) 67
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Q52.413, 244, 123, 74, ?, 40
(a) 47
(b) 45
(c) 43
(d) 49
(e) 51

Q53. 64, 68, 80, 116, 224, ?
(a) 524
(b) 516
(c) 528
(d) 548
(e) 538

Q54. 17, 22, 37, 62, ?, 142
(a) 101

(b) 99

(c) 95

(d) 93

(e) 97

Q55. 48, 7, 123, 223, 423, 823
(a) 73
(b) 71
(c) 75
(d) 77
(e) 79

Directions (56-60): The bar graph given below shows number of shirts sold by five shops. Study the graph
carefully and answer the questions given below.

160

140

120

100

80

60

40
2

0

P Q R 5 T
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= o T <5 e Wi TR ETRT ST TS 1S ST AT QTiaT g SierE T SATE e Sread e ST A= fRg g vt
H I

160

140

120

100

B0
[

40
2

0

P Q R 5 T

Q56. Find the ratio of number of shirts sold by R to total shirts sold by S and T together?
R TR0 ST TS 91€ T H&AT &7 S i T T TH AT o941 T8, F <1 & AT AT hiforg)

(a) 1:2

(b) 1:4

(c) 1:3

(d) 2:3

(e) 1:1

[

[=]

Q57. The average number of shirts sold by P, Q and X is 90, then find the difference between shirts sold
by X and S?

P, Q 3% X g1 =Y 7 o ¥ sfwra HeAT 90 §, AT X Sfi¥ S gy A= M 1€ % <= A< A v

(a) 40

(b) 50

(c) 20

(d) 30

(e) 70

Q58. Total shirts sold by Q is what percent more than total shirts sold by S?
Q ST ST TS, A AS S TRT AAT TS, oA A€ & Fohaey wiqera sferer g7

(a) 25%

(b) 15%

(c) 20%

(d) 10%

(e) 30%
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Q59. If total number of shirts sold by A is 5/4t of total shirts sold by R and total pants sold by A is 3 /4t
of total shirts sold by P, then find total shirts and pants sold by A?

T A G 9 1< 91E T TN AT R G ST T FioA 91 6l 5/4T 9T & ST A R ST TS F Ge P gy 941 T8
7 1 Y 3/4a1 ST E, A7 A T A E v 1€ e A wra R

(a) 155

(b) 115

(c) 145

(d) 125

(e) 135

Q60. If selling price of each shirt is Rs 200 for each shop, then find the total revenue generated by Q and
T together (in Rs)?

T A AT & Forg T4 91E 7 Fa T g7 200 €93 5, AT Q 3= T ST T AT AT d Fof ToTed (T /) T hiforg?
(a) 60000

(b) 64000

(c) 56000

(d) 52000

(e) 48000

Directions (61-65): The table given below shows number of students in three classes A, B and C in four
different months March, April, May and June. Read the data carefully and answer the questions given
below.

Months Class A Class B Class C

March 96 87 91
April B4 72 &0
May a0 a0 68
June 75 63 56

= S 1€ FTITRT AT AAT-STAT WG| AT, A, HS SIS A AT F&ATA A, B X C H AT 61 ST I g1 ST FHT
EATAYEH ST HL AT AT (ST T T 6 I 4

HET HUTA FEITB FETC
AT 96 87 91
arter 64 72 60
s 90 80 68
= 75 63 56

Q61. Find the difference between total number of students in class B & C together in May and total
number of students in class A & C together in March?

HE & 8T B 3 C § TF qT Gl hl $A G&AT TAT ATH & 6T A A C H TF T ST bl $F AT F 19 AL ATT
Hifcm

(a) 43
(b) 41
(c) 37
(d) 39
(e) 35
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Q62. The average number of students in March, April & May in class C is what percent of total number of
students in A in the month of June (approx.)?

HTH, ST AT § HEAT C H JTAT bl Q@ AT, [ H FH&T A H AT At ToT AT T Foha=1 AT § (FTHT) 2

(a) 97%
(b) 93%
(c) 89%
(d) 83%
(e) 90%

Q63. If total number of students in class D in month of April are half of the total student in class A and B
in the same month, then find the sum of total students in class D in month of April and students in class B
in month of March?

Ff AT AEAT H HEAT D H F A=A B AT, IHT ALAT 7 FT A S BH T FrAT ¥ A0t 7, A% W1 H FATD

¥ 1 G ST AT AT H FAT B H o1 AT 67 TIT ATq hiforg
(a) 145
(b) 155
(c) 135
(d) 165
(e) 125

Q64. Find the ratio of total students in class A in month of May to sum of total students in class B in month
of May and total students in class C in month of April?

TS WEIHT & FET AW FT FTAT 7 TS AGHT A &7 BH Fo7 STl AT A9 AT & FH&AT CH Fo7 Bl 6 T07 I (e
T fifsm

(@)3:5

(b)3:4

(c)9:13

(d)9:14

(e)9:16

Q65. Total students in class A in month of March is what percent more than total students in class B in
month of June?

ATH 7 | T AN T G, 7 Tl § FT BH o Gl A g widera arfars €2

(a) 45%

(b) 42%

() 72%

(d) 48%

(e) 52%

Directions (66-80): What value should come in place of (?) in the following questions.

Rt ot J weEms = (2) 3 S 9 =T /I T iR ?
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2% 212 — (11)2 =7
Q66. 399

(a) 110
(b) 320
(c) 100
(d) 120
(e) 80

Q67. 343 + 243 + 512 = 20% of ?
343 + 243 + 512 = 7 %7 20%

(a) 4590

(b) 5490

(c) 6490

(d) 6140

(e) 5290

Q68. V1728 + 784 + /1296 =7 + V512
(a) 86
(b) 68
(c) 74
(d) 72
(e) 64

V256 X 49 + (16)% — 3343 = (7)?

Q69.

(a) 21
(b) 18
(c) 14
(d) 22
(e) 19

070 7i-3244-=2
(@9

(b) 18

(c) 27

(d) 54

(e) 81

Q71. 24x72-8x7=3400
(a) 8

(b) 4

(c)12

(d) 2

(e) 6
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Q72.12.5x?+152=(19)2-11
(a)8

(b) 4

()6

(d) 12

(e) 10

Q73.
27 412 % of 125 = /1296 + 12

8 125 @112 % =+/1296 +1°
(a)8

(b) 10

(c)12

(d) 14

(e) 22

Q74.128 + 15% of ? = (5)3+ 30
128 +? FT 15% = (5)3+ 30

(a) 160

(b) 220

(c) 200

(d) 180

(e) 196

Q75. 245847 =(19)* + V49
(a) 132.2
(b) 136.2
(c) 148.2
(d) 122.2
(e) 180.2

Q76. (J488—(11]2 +74) x 4 =7% 700
(@9

(b) 12

(c) 14

(d) 18

(e) 16

Q77 (V169 +196) x (V16 —v4) =2

(a) 54
(b) 62
(c) 47
(d) 68
(e) 84
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(v&aa—??+§—ef=?
(a) 166
(b) 598
(c) 264
(d) 760
(e) 696

54x§+z1xf?=£9

Q79. 3.5

(a) 1225
(b) 1156
(c) 1089
(d) 1296
(e) 1315

(a) 75
(b) 100
(c) 150
(d) 25
(e) 50
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S1. Ans.(c)
Sol. Final arrangement:

A C D B

Row 2 ! ! ! !
P R S Q
S2. Ans.(d)
Sol. Final arrangement:
A C D B

Row 1 | I | |

Row 2 ! I !

P R S Q
$3. Ans.(e)
Sol. Final arrangement:

A C D B

Row 2 ! I I I

rm 1 1
P R S Q

Except S, rest sit at one of the ends.

S4. Ans.(a)
Sol. Final arrangement:
A C D B
Row 1 | | | |
Row 2 ! ! ! !
P R S Q
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S5. Ans.(b)
Sol. Final arrangement:

A C D B

Row 2 ! !

P R S Q

S6. Ans.(d)
S7. Ans.(c)
$8. Ans.(e)
$9. Ans.(a)
$10. Ans.(d)
$11. Ans.(c)
$12. Ans.(e)
$13. Ans.(b)

$14. Ans.(d)
Sol. Except GJK, logic follows here-

B (+3)---E(-2)---C

$15. Ans.(e)
Sol.
Floors | Persons

7 F
6 J
5 L
4 G
3 |
2 H
1 K
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$16. Ans.(d)
Sol.
Floors | Persons
7 F
6 J
5 L
4 G
3 I
2 H
1 K
$17. Ans.(c)
Sol.
Floors | Persons
7 F
6 I
5 L
4+ G
3 I
2 H
1 K
$18. Ans.(c)
Sol.
Floors | Persons
7 F
6 I
5 L
4 G
3 I
2 H
1 K
$19. Ans.(e)
Sol.
Floors | Persons
7 F
6 J
5 L
4 G
3 I
2 H
1 K

Except ], all the other persons live on odd numbered floor.
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$20. Ans.(b)
Sol. Meaningful word formed by using letters: S, E, L and N is Lens.

$21. Ans.(b)
So

1.
(bats o tires (3 Tops @->—Jeans
$22. Ans.(d)

T

Sol.

$23. Ans.(a)
Sol.
Conpue P e
S$24. Ans.(e)
Sol. Final Arrangement:
Ranks | Persons
1 I
2 F
3 H
4 G
5 E
6 ]
$25. Ans.(b)

Sol. Final Arrangement:

Ranks | Persons
I

|| e | wba |~
—|m || T | T
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$26. Ans.(d)

Sol. Final Arrangement:
Ranks | Persons
I

e W=
—|m| oI

The position of the two persons remain unchanged.

Ranks | Persons Persons
(After
Alphabetic
al Order)
1 | E
2 F F
3 H G
4 G H
5 E I
6 ] ]
$27. Ans.(d)
Sol. Final Arrangement:
Ranks | Persons
1 I
2 F
3 H
4 G
5 E
6 ]
$28. Ans.(e)

Sol. Final Arrangement:

Ranks | Persons
I

| |w |
_—|m| T
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$29. Ans.(e)
$30. Ans.(a)
S$31. Ans.(e)
$32. Ans.(c)
$33. Ans.(a)

S$34. Ans.(c)
Sol. Only one pair is formed.

1
COMPLEHKX

$35. Ans.(b)
Sol. Final Arrangement:

O N M

$36. Ans.(c)
Sol. Final Arrangement:

ﬂ—

O N M

$37. Ans.(e)
Sol. Final Arrangement:

ﬂ—

m_

O N M

$38. Ans.(d)
Sol. Final Arrangement:

Y
X 10m

15m

4m

ﬁ—

11m

7m

5m

m_

28 |


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

A GET IT ON
Google Play

Addal247/

$39. Ans.(c)
Sol. Final Arrangement:
10m
11m
15m
v 5m U
4m
Z Tm w
$40. Ans.(b)
Sol. Final Arrangement:
5m
Y S T
X" 1om
11m
15m
v 5m U
4m
Z 7m w
$41. Ans.(c)

Sol. Total marks obtained by the student in all five subjects = 105 x5 = 525
Total highest and lowest mark obtained by the student = 525 - 72 x3
=525-216 =309

S$42. Ans.(a)

Sol. Let efficiency of a bull and an ox be x unit/day & y unit/day respectively
ATQ, 6x9xx =12 x6 x y

3x=4y

x:y=4:3

Total work = 6 x8x4 = 192 unit

Required days = 192/(5x4+4x3) =192/32 = 6 days

S$43. Ans.(b)

Sol. Let breadth of the rectangle = x cm
So, length of the rectangle = x + 3 cm
ATQ, 2(2x+3) = 66

2x+3 =33

2x =30

x=15

Required area = 15 x18 = 270 cm square
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S44. Ans.(d)
Sol.

Let initial quantity of milk and water be 11x and 8x respectively
1ix48 _ 7

Bx+34 &
66x - 56x =168 - 48

10x =120
x=12
So, the quantity of water in the initial mixture = 12 =8 = 96 liters

$45. Ans.(d)

Sol. Let bigger number = 2x

So, smaller number =x + 13

ATQ, 2x - (x+13) =78

x=91

So, smaller number =91 + 13 =104

$46. Ans.(c)
Sol.

X and Y denoted as x and y respectively.
ATQ x -y = 24— (i)

And, x X §+ 16 =y ---—-- (ii)

From (i) and (ii) we get

7243y = 5y - 80

6=y

$47. Ans.(d)
Sol. Present age of A =21 + 3 = 24 years
Present age of B = (24+4) x5/7 - 4 =20 - 4 = 16 years

$48. Ans.(e)

Sol. Ratio of profit share of Pand Q =2500x 12:Xx8=3750:X
ATQ, 5X =3750 x4

X =3000Rs

$49. Ans.(d)
Sol.

Simple interest = (principle % interest rate » time) /100
2700 = P x (12x5)/100
p = 2700x100

80
P=4500Rs
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$50. Ans.(c)

Sol.

Distance travelled by car =60 %2 =120 km
Distance travelled by bus =80 x5 =400 km
Distance travelled by bicycle =10 =5 =50 km

Total distance travelled

Average speed =
_ 120+400+50

2+5+5
=47.5 km/hr

Total time taken

S$51. Ans.(d)

Sol. Pattern of series -
22+25=245
24.5+5=295
295+75=37
37+10=47

47 +12.5=59.5

$52. Ans.(d)

Sol. Pattern of series -
413 -132=244

244 -112=123

123 -72=74

74 -52=49

49 -32=40

$53. Ans.(d)
Sol. Pattern of series -
64 68 80 116 224 7=548
4 12 36 108 324
® 3 %3 %3 ® 3

$54. Ans.(e)

Sol. Pattern of series -
17 +5=22
22+15=37
37+25=62

62 +35=97

97 + 45 =142

$55. Ans.(a)

Sol. Pattern of series -
48+25=173

73 +50=123

123 +100 =223

223 +200 =423

423 +400 =823
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$56. Ans.(b)
Sol. Required ratio=60: (100 + 140) =1:4

§$57. Ans.(d)
Sol. Total number of shirts sold by X =90 x3 - (80+120) = 70
Required difference =100 - 70 = 30

$58. Ans.(c)
Sol. Required percentage = (120-100)/100 x100=20%

$59. Ans.(e)

Sol. Total number of shirts sold by A= 60 x 5/4 =75
Total pants sold by A =80 x 3/4 = 60

Required answer =75 + 60 =135

$60. Ans.(d)
Sol. Required revenue = 200 x(120+140)= 52000 Rs

S$61. Ans.(d)
Sol. Required difference = (96+91) - (80+68)
=187 -148=139

$62. Ans.(a)
Sol. Average number of students in March, April & May in class C = (91+60+68)/3 = 73
Required Percentage =73/75 x100=97.33297%

$63. Ans.(b)
Sol. Total students in class D in month of April = (64+72)/2 = 68
Required sum = 68 + 87 = 155

$64. Ans.(d)
Sol. Required ratio=90: (80 + 60)=9:14

S$65. Ans.(e)

Sol. Required % = (96-63)/63 x100
=33/63 x100

=52.38=52%

$66. Ans.(a)
Sol.

209 )
7= x21% — (11)
399

19 x 11 . ,
7=— —x212 —11
19 x 21

?7=231-121=110
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S$67. Ans.(b)
Sol.

é X7 = 1098
7 = 5490

$68. Ans.(b)
Sol.7=12 + 28 +36 -8
7=76-8

?7=68

$69. Ans.(e)
Sol. (7)2=16x 7 + 256 - 7
(?7)% =361

?7=19

$70. Ans.(c)
Sol.

4 2 8 _ 234
?E— 35+ 4E ==

$71. Ans.(c)
Sol.
24 x7°— 8 x 7 = 3400
__ 3458
T
7=12

a2

$72. Ans.(e)
Sol.
125 =7 +225 =361 - 11
12.5 x?= 350 — 225
_ 125

=

12.5
7=10

$73. Ans.(a)

Sol.
176

== =37-15

176
2

+ 2 w135=36+1
100

7=

7-8
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S$74. Ans.(d)

Sol.

128 + — x7= 125 + 30
100

22 x7=155-—128
100

15

= x7=27
100

7=2"% 100
1=
7=180

$75. Ans.(d)

Sol. 245.8+?=361+7
?7=368 -245.8
?7=122.2

$76. Ans.(b)
Sol.

(V488 -121+74) x 4 =7 x?

21 =% 4
=7

7
=12

$77. Ans.(a)

Sol. 7 = (13+14) x (4-2)
?7=27x2

?7=54

$78. Ans.(b)
Sol. 7 =216-49+512-81
?7=598

$79. Ans.(a)

Sol.
3.1 140
— —_ =

64 X Eux;.-zl %7 s

Y
T =
V==
V7=135

?7=1225

$80. Ans.(e)
Sol.
80 36

3 2 9 5

1B6+99-160 —=7% i
18 36

115 _ 36

18 5
?7=150

7
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